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Part I. CHILD DEVELOPMENT AND PEDAGOGY (Marks: 30)

The following concept is the product of maturation and learning:

(1) Growth (2) Development (3) Personality  (4) Knowledge.
Motor development is closely related with :

(1) Physical development. (2) Mental development

(3) Quantity development (4) Quality development.

The infants become fearful of percieved threats begin to prefer familier people and
show anxiety and distress when separated from them or approach by strangers during
the period of

(1) 6-10 months  (2) 12-16 months (3) 8-12 months  (4) 4-8 months
The prenautal period is:

(1) 276 days (3) 280 days (3) 290 days (4) 260 days
Which of the following is not the principle of development ?

(2) Principle of integration (2) Principle of interrelation

(3) Principle of uniformity (4) Principle of ethics

Which of the following factor is useful for a teacher to assign indoor and outdoor to
his students ?

(1) Biological factor (2) Social factor.

(3) Physical factor (4) Psychological factor

The age in which the infants are able to differentiate the love and anger is

(1) 4 months (2) 6 months. (3) 8 months. (4) 10 months.

In which to of the following stage of piagets cognitive development, the child fails to
understand the conservation of matter.?

(1) Sensory Motor stage. (2) Concrete operatimal stage

(2) Pre-operational stage (4) Formal operational stage.

In early stage of adolescence, the rate of growth of lymbs is very high. It is due to
_____process.

(1) Proximal (2) Reverse cephalocaudal

(3) Cephalocaudal (4) Cephalo

The father of client centered therapy is:

(1) B.F. Skinner  (2) Noam Chomsky. (3) Sigmend Freud  (4) Carl Roger
The component which attitudes cannot include:

(1) Cognitive (2) Affective (3) Emotional (4) Behavioral
An innate in born ability or capacity to learn to do a certain kind of work, is

(2) Interest (2) An aptitude (3) An attitude (4) Innate potential
Which of the following interests contribute to reduce the mental tensions?

(2) Social (2) Recreational (3) Personal (4) Intellectual
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On conducting the psychological test of a child of 13 years old, the psychologist found
the mental age 15 years. What is the nearest approximate intelligence quetient of child?
(1) 90 (2) 110 (3) 130 (4) 145

Find out the wrong statement on personality.

(1) All aspects of human development influences personality.

(2) Personality is dynamic

(3) Personality is a complex concept.

(4) We can measure but cannot asses it completely.

Which of the following one is not an example of non-associatative learning?

(1) Habituation  (2) Sensitization (3) Associative learning (4) All of these
After playing a music based video game, some people may be motivated to learn how
to play a real instrument is example for:

(1) Dialogic Learning (2) Tangential learning

(3) Non-formal learning (4) Informal learning

We can bring a child to school, but cannot make him to learn, where there is

(1) No text books (2) No Teacher (3) No motivation (4) No readiness
Radical behaviorism was developed by:

(2) lvan Pavlov  (2) B.B. Skinner (1) E.L. Thorndike (1) Watson

In which of the following learning type, the learner is more active?

(1) Pavlov (2) Skinner

(3) Social learning (4) Rote memorization

Find out the mismatched pair.
(1) Positive reinforcement : reinforcement  (2) Negative reinforcement : escape.
(3) Positive punishment : Positive response. (4) Negative punishment : penalty.

Response given for conditioned stimulus is

(1) Conditioned Response (2) Unconditioned Response.

(3) Reinforcement (4) Unconditioned stimulus.

Which of the following treats learner as an information constructor?

(1) Gestalt school (2) Behaviorism (3) Constructivism  (4) Humanism

Gestalt means.

(1) Total fact

(2) Total figure

(3) Meaningful patterns of the individual concept.

(4) Meaningful or Unified whole.

John Deway named school in this way

(1) Extensive Society (2) Miniatured Society.
(3) Institutionalized Society (4) Cultural Society.
Minimum Educational programme in special education is :

(2) Curriculum for all students.

(2) Some special, specific educational programmes

(3) Both (1) & (2)

(4) None of the above.
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Moderate disabled means:

(1) Mentally handicaped who cannot be trained.

(2) Mentally handicapped who can be trained

(3) Mentally handicapped who does not need training.

(4) Trained physically handicapped.

The teaching method based on the theory "Learning Through Living" is

(1) Heuristic method (2) Synthetic method

(3) Project method (4) Laboratory method

Who said that "Learning improves through collective activities” ?

(1) Pavlov (2) Thorndike (3) Skinner (4) Wgotsky.
Who is the classroom leader in the following?

(2) Intelligent student (2) Strong student

(3) Teacher (4) Head master
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Part 111. LANGUAGE - 11 (ENGLISH) (Marks: 30)

(61-65) Read the passage and answer the questions :

61.

62.

63.

64.

Open and Distance Learning in India was introduced by Delhi University in 1962 through
the School of Correspondence Courses and Continuing Education to enable those, who
had the inclination and aptitude to acquire further knowledge and improve their profes-
sional competence. Subsequently in 1968, Correspondence Courses were started by
Punjabi University and University of Rajasthan. Meerut and Mysore University started
these courses in 1969. In the eighties, the distance education system expanded further.
Dr. B.R. Ambedkar Open University, Hyderabad was established in 1982 by the State of
Andhra Pradesh. The setting up of Indira Gandhi National Open University by the Gov-
ernment of India in 1985 by an Act of the Parliament is considered to be a landmark
development in the field of distance education in the Country.

The Distance Education Council (DEC) was established in 1991 under Section 16(7)
read with Section 5(2) of the IGNOU Act, 1985. As per clause (2) (a) of the statute 28,
the DEC was responsible for the promotion and coordination of the Open and Distance
Learning system in the Country. In May, 2007 a Joint Committee was formed by signing
a MoU between UGC, AICTE and DEC for the period of three years till May, 2010. The
Joint Committee developed guidelines in the form of 'Recognition of Open and Dis-
tance Learning (ODL) Institutions' Handbook 2009. Thereafter, in pursuance of the di-
rections issued by the Ministry of Education, the Department of Higher Education,
Government of India issued order dated 29.12.2012, thereby the regulatory functions
with regard to Distance Education programmes (excluding technical education) in higher
education were vested with the University Grants Commission and for technical educa-
tion, the AICTE act as a regulator through ODL mode. The Distance Education Coun-
cil, which was the erstwhile regulator of Distance Education programmes, was dis-
solved and all regulatory functions were undertaken by the UGC under DEB (Distance
Education Bureau) with effect from 2013. The Ministry of Education vide its order
dated 25th February, 2014, has directed UGC to act as a regulator for higher education
system in ODL mode, including for technical education in universities/affiliated col-
leges.

What is the landmark development in distance education

(2) Parliament Act (2) Open schooling (3) distance learning (4) setting up IGNOU
This body acts as a regulatory for ODL

(1) UGC (2) DED (3) DEC (4) ODL

Open learning was introduced for one who wishes to

(1) get high salary (2) improve personality

(3) improve knowledge (4) get political power

This was established under section 16(7)

(1) The Ministry of Education (2) The Distance Education Council

(3) DrB.R.Ambedkar Open University (4) UGC
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They now realized the importance of reading the newspaper.

The underlined word is a

(2) article (2) verb (3) preposition (4) phrase

A special dinner was arranged for the Miss World contestants by the organizers.
This sentence can also be expressed as

(1) The organisers were arranged a special dinner for the Miss World contestants
(2) Miss World contestants arranged a special dinner for the organisers.

(3) The contestants arranged a special dinner for the organisers.

(4) The organisers arranged a special dinner for the Miss world contestants.

She was about her nomination to the bookers prize.

Choose the correct option for the blank.

(1) surprise (2) will surprise  (3) surprised (4) will be surprise
We enjoyed the old melodies, ?

Supply the correct question tag

(1) don't we (2) didn't we (3) doesn't she (4) shouldn't we
Identify the error part of the sentence .

One of the participant threw water bottles at the player in the stadium.

A B C D
(1)D (2C (3) B 4) A
Our diet have all rainbow color vegetables.

Choose the correct option to complete the sentence.

(1) apply (2) has (3) will has (4) must
Identify the word in plural.

(1) alumna (2) alumnus (3) alumni (4) alumini
Identify the correct sentence.

(1) She wake up at 3am daily.

(2) we watch movies in Satva Mall.

(3) They avoids plastic in their school.

(4) I had insist you all torad newspaper daily.

They applied for the job before the deadline approached.
Choose the correct option to complete the sentence.

(1) have (2) has (3) had (4) are
Students in engineering colleges attend classes ‘once in a bluemoon'
Identify the meaning of the idiom".

(2) on holidays (2) in the evenings (3) regularly (4) rarely
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Diffidence

Identify the antonym of the " .

(1) differenceb (2) confidence (3) collection (4) zeal

Choose the correctly spelt word.

(1) commissionar  (2) devilopment  (3) restaurant (4) tranclation

They have 'called off' the strike after the Hyderabad Incharge Minister gave assurance.

Identify the meaning of the word " .

(1) extended (2) met (3) started (4) stopped

They have distributed the Material.

Choose the option that best expresses the given .

(1) The material have been distributed. (2) The material was been distributed.

(3) The material had been distributed.  (4) The material has distributed

The appropriate closing of the official letter is .

(1) passionately (2) affectionately  (3) with love (4) Thank you

Arrange the following in the correct order.

p) she attended the interview q)she read the Employment News

r)she prepared the Re’sume™ s)she applied for the job

(1) p,q.r,s, (2)q,r,s,p (3)q.s,.rp (4) p.s.q.r
ENGLISH METHODOLOGY

Philanthropist is one who loves people

(1) irrespective ofcaste,religion (2) with respect to one caste

(3) irrespective of their interest (4) with respect to one religion

The other way of expressing the line 'She asked 'where were you'is

(1) she asked where | am. (2) she asked where | had.

(3) she asked where | will be. (4) She asked where | had been
Identify the silent letter in ' rapport ".

(2)p (2) a (3t (4) o

In Audio-lingual Method the below concepts have to be taught first

(1) reading and writing (2) mother tongue

(3) mother tongue is avoided (4) speaking and Listening[ ]

Transferring the knowledge from one language to another or taking help of one language
in learning the other is a new ares of Research in ELT, it is termed as

(1) Translation (2) trans language (3) Interpretation (4) transmigration
Below given is/are the example of Reference skills
(1) Dictionaries (2) Thesaurus (3) Vocabulary (4) Spellings
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The sub-skills of teaching is/are

a) Making a queue b) Questioning ¢) Arguing d) Blackboard work
(1) ab (2)bd (3)cd (4)bd

This is a major group of activities that can be conducted in a language class

(1) Acting in a movies (2) Imitating a teacher

(3) Role play (4) Cleaning the classroom

According to SCF 2011, Textbooks should help in interaction between

(1) Children and politics (2) Management and community

(3) Government and schools (4) Children and community

Put the given items in order as per is process

a) Evaluation  b) Measurement c) Test d) Assessment

(1)a,b,c,d (2) cbda (3)c,d,ba (4) ac,bd
Part IV. MATHEMATICS AND SCIENCE (Marks: 60)

P _
Convert into afromto 04

oA n 4 03 nt
@5 @) 1 3) 1 4 59
Who was the mathematician who discovered Irrational number?

(1) Archimedes (2) Arya Bhatta (3) Pythagoras (4) Newton

If GCD and LCM are 1560 and 10 respectively. If first number 10 then what is the
Second number?

(1) 110 (2) 130 (3) 125 (4) 120
Which of the following is cubic root

(1) 889 (2) 243

(3) 729 (4) 15525

Find n(AnB) from given figure

(1)2 (2){1.2}

(3)6 (4)4

The Degree of Constant term is

1)0 21 (3)2 43
The sum of two numbers is 29 and one number exceeds another by 5. Find the numbers.
(1) 14, 19 (2) 12, 17 (3) 15, 14 (4) 20,9

The Product of two consecutive integers is 306. Then its quadratic equation?

(1) x2+x+306=0 (D x+x*+306=0 (3) x+x-306=0 (4) x*—x+306=0

9
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Find the radius of the circle whose centre is (3,2) and passing through (-5,6)

(1) /5 units (2) /7 units (3) 44/7 units (4) 45 units

24 men working at 8 hours per day can do a piece of work in 15 days. In how many days
can 20 men working at 9 hours per day can complete the same work?

(1) 15 days (2) 16 days (3) 17 days (4) 14 days
If P= "2500, R = 6% per annum. Then find the amount at compound interest in 2 years.
(1) 2809 (2) 2000 (3) 2400 (4) 309

Find the angle between the two hands at 2 hour 35 minutes

1° 1°
(1) 160° (2 1325 (3) 1625 (4) 150°
If the average of the numbers 9, 11, 13, p. 18 is p then value of p?
(1) 120 (2) 13 (3) 14 (4) 18
If the complementary of an angle is 25%. of its supplement then it's measure is
(1) 75° (2) 30° (3) 1360° (4) 45°

45 leaves remainder 2 when divided by 5 and leaves remainder 1 when divided by 3,
what is the value of 2?

(1) 7 (2)2 (3) 4 (4)6
Find the area of shaded region of the given figure
(1) 94.5 m? (2) 21 m I
(3) 80.4m? (4) 60.2 m? 21m
A Person bought an article for Rs 300 and Sold l
it for Rs.320 then his gain Percentage is
+«—2Im——

1 2
(1) 18 1) 45 (3) 65 4)7
One of the following cannot be the sides of triangle.
(1) 1cm 2cm3cm (2) 10 cm, 8cm, 9em
(3) 4m, 5m, 6m (4) 4.5cm, 3.5cm, 2.5m

A Weighs 80 kilograms, B weights 40 kilograms. C Weight bo kilogram. How much do
the 3 people weight altogether in grams

(1) 100000 g (2) 1800000g  (3) 150000 g (4) 1600000 g
If 5x=1000° then 5+2=9°
(1) 10 (1) 50 (3)25 (4) 40

10
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If the length of a rectangle is 8 m less than twice its breadth. If the Perimeter of the
rectangle is 56m find its length and breadth,

(1) L=12M;b=16M (2) L=24M,b=12M 3

(3) L=16m,b=12M (4) L=10m,b=8m

Which of the following pairs of number is not of co-primes?

(1) 14,15 (1) 99, 713421  (3) 64, 70 (4) 132,121
Which of the following letter is Symmetric

(1) B Q) F (3) G 4) C

Which of the following paire is pythagorean triplets.

(1) (8,7,3) (2) (5,6,7) (3) (12, 13, 14) (4) (8, 15, 17)

MATHEMATICS METHODOLOGY

Mathematics is a science of quanty defined by
(1) Aristole (2) August comte  (3) Plato (4) Eratosthene
A Maths Teacher should be in the classroom.
(1) Sincere (2) Paigot (3) Compassionate  (4) Sleeper
Geometry Structures fall under this calogory.
(1) Cognative (2) Affective (3) Psychomotor (4) Knowledge
Who said Mathematte is the door and key of Science,
() Euclid (2) Roger Bacon  (3) Placto (4) Russell
Which Mathematician created calculus?
(2) Aristotle (2) Newton (3) Ramanujam (4) Rager Beaom
Which is Not value of Mathematics
(1) Utilitratain Value (2) Cultural Value (3) Aesthetic Value (4) Place Value.

SCEINCE CONTENT
The instrument which is used to determine the relative density of Liquid is
(1) Hydrometer (2) Lactometer (3) Gravity mater (4) Manometer
Which of the following properties distinguish Sturn from other planets
(2) It's Red Colour (2) It's Yellowish colour and rings around it.
(3) It's Blue Colour (4) 1t has many moons around it.

Which of the following is used in a Microscope to form enlarged and erected image of an
object

(1) Double Convex lens (2) Double Concave lens

(3) Convex Mirror (4) Concave mirror
11
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135.

The audible sound range of a man is

(1) 20Hz - 200Hz  (2) 2KHz - 20KHz (3) 20 KHz-200 KHz (4) 20Hz-20KHz
The melting point and Latent Heat of fusion of ice are respectively

(1) 373K, 540 cal/gm (2) 273K, 80cal/gm

(3) OK, 540 cal/gm (4) OK, 80 cal/gm

Acceleration of a body is Zero when it move with

(1) Constant speed (2) Variable speed (3) Constant velocity (4) None of the above
Ohm's Law is valid for which of the following

(1) Semi Conductors (2) Metal Conductors

(3) Gaseous Conductors (4) Non-Conductors,

The only synthetic fibre obtained from plant's Cellulose is

(1) Nylon (2) Polyster (3) Acrylic (4) Rayon

In the given balanced equation,

Fe,0,+ X Al——Y Fe + ALO, the value of X and Y is

(1) X=2, Y=2 (2) X=1, Y=1 (3) X=1, Y=2 (4) X=2,Y=1

The maximum number of electrons that can be accommodated in the M-Shell of an atom is
12 (28 (3) 18 (4) 32

Number of elements present in 2nd period of the modern periodic Table is

12 (2)8 (3) 18 (4) 32

Galena is an ore of

(1) zZn (2) Pb (3) Hg (4) Al

Which of the following method is not suitable for teaching of Science

(1) Lecture Method (2) Heuristic Method

(3) Project Method (4) Demonstration Method

Science Kits have been produced by

(1) The Central Science workshop in NCTE

(2) Central Science workshop in SCERT

(3) The Central Science workshop in NCERT

(4) A central panel of science teacher in UNESCO

The main purpose of this type of evaluation is directed towards improving teaching-
learning process, is

(1) Diagnostic evaluation (2) Informative evaluation

(3) Summative evaluation (4) Formative evaluation

12
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146.

A plant that stores food in it's roots
(1) Potato (2) Carrot (3) Garlic (4) Ginger

Find the missing product in the equation

CO, +H,0 —i>CH,O +......+ 0,

(1) CO, (2)H,0 (3) C,H.0O, (4) 6S0,
Example for weedicide is

(1) 2,4-D (2) Endrin (3) Endosulfan (4) Aldrin
Identify the stage of cell division

(1) Prophase (2) Metaphas

(3) Anaphase (4) Telophase

Todopsin pigment is the one which become handy when
Light Dreams

(1) There is bright light (2) There is no light
The purpose of first aid is?

(1) Reduce mortality rate (2) Increase life span

(3) Decrease population growth (4) Keep the victim alive.

Bio accumulation means the entering of _ in a food chain

(1) Another pradator (2) Extra producer (3) Pollution (4) All of these
Match the following.

List-1 List-11

1. Artial contraction a.0.27 - 0.35sec

2. Ventricular contraction b. 0.8sec

3. Cardiac cycle c.0.11 - 0.14sec

The Conversion of Glucose to pyruvic acid yields to net gain of ATP

(1) 2 molecules of ATP (2) 36 molecules of ATP

(3) 4 molecules of ATP (4) 38 molecules of ATP

Which one of the following is not a connective Tissue.

(1) Cartillage (2) Ligament (3) blood (4)Non-striated

Which one of the following is not an example for feedback mechanism.
(1) As the baby sucks more prolactin is produced which enhances milk productions

(2) When the glucose level in blood rises above the normal level, one type of cells in
pancrease responds by producing more amount of insulin.

(3) Running in fear when chased by a dog, increases the rate of heart beat

(4) After entering a dark room, after some time slowly objects in the room can be seen.

13
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150.

Identify the pair of diseases the are Caused by proto zoon and bacterium respectively
(1) Dengue - Chickangunya. (2) Diptheria - Whooping caugh

(3) Maleria - Typhoid (4) Cholera - Typhoid

A factor being measured in an experiment is the

(1) Independent variable (2) Dependent variable (3) Centriol  (4) Constant.

Which of the following is NOT correct in advocating environmental influence individual
development?

(1) School facilities, Personal develoment - W.C Bagley
(2) Forsterind Kids - Skodak

(3) Gypsy children - Gordon

(4) 19 pairs of identical twins - Watson

The educational objectives are the detailed specification of the evaluative techniques.
This was stated by
(2) J. B. Connat (2) Good (3) Bloom (4) Fisher.

*kkkk
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